1. (13 pts)

(a) Find a vector that has length 7 and is orthogonal to hoth w = (1,0,2) and v = {3, -2, 1)
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(b) Find the distance from point A to point B in the picture below {Iint: Use vector tools!)
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{c} Consider the line through the points {0,0,1) and {3,4,5). Find the (z,y, z) point(s) where
the line intersects the cylinder 22 + 9% = 4.
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Exam I Answers
Math 126 C Winter 2018

Version 1: In #1(b), you are asked to find vectors with magnitude 4.

1. (a) (1 points each) from top to bottom: SN SV SV



1. (11 points)

(a) (5 pts) Consider the line through the points P(1,3,-2) and Q(3,5,7). Find the (z,y,2)
coordinates of the point at which this line intersects the zz-plane.
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(b) Consider the plane, P, that contains the point (1,—1,2) and is the orthogonal to the line

given by
= -3t
L:q y=2+Tt

z=5—t
i. (4 pts) Find the equation for the plane, P.
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ii. (2 pts) At what point (z,y, z) does this plane intersect the z-axis?
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